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HENRE AR S DR R LT

] i B - AR BT % B B i kil ] mE
BRI 12,570, 091
RETEEHE 12,570, 091
R ERT 12,570, 091
ERFmFRARS 12,231, 300
FEES 140, 050
1 B 1.00 140, 050 140, 050
=
BRI - BE 614, 950
2 AHUNEEE 1.00 614, 950 614, 950
=
FE (-13m) (WE) DR 7,194, 250
3 RETEHDOHRE 1.00 1,106, 350 1,106, 350
=
4 BERA DM 1.00 353, 100 353, 100
=
5 KiEREE L UEBHREOTELDRE 1.00 748, 800 748, 800
e =
6 BRIKEDHELEEN 1.00 3,823,200 3,823, 200
=
1T BERXDEREE 1.00 1,162, 800 1,162, 800
=
M e SR D8RR T 981, 200
8 MR DIEERET 1.00 981, 200 981, 200
=
BIE Ak 337, 500
9 HmEER 1.00 337, 500 337, 500
=




HENRE AR S DR R LT

% i B - AR Bify % B L i il ] mE

EEDWROBET 2,367, 450

10 FEHOHE 1.00 1,284, 550 1,284, 550
=

1 BEREES ORI 1.00 563, 800 563, 800
=

12 REEROEYFLED 1.00 519, 100 519, 100
=

BEY 243,700

13 RBTERREER 1.00 243, 700 243,700
=

g - |E 352, 200

14 358 - W& 3.00 117, 400 352, 200
=

BE#EEE 338, 791

EBARE 118, 791

15 EBAME 1.00 118, 791 118,791
=

R 220, 000

16 XBAR R 1.00 220, 000 220, 000
=




RIE&R
e

HeBEEMR ERMRFRARH

A g HE - BRRTE Bz g fifi ® &
BRI 12,231,300 + 338, 791 12,570, 091
BEEAGE 12, 231, 300
EERE 338, 791
Z DR 12,231,300 x 53.85% ( 35% + (1 — 35%) ) 6, 586, 555
REIR M 12,570,091 + 6,586, 555 19, 156, 646
—REHES 19,156,646 x 53.85% ( 35% = (1 — 35% ) ) — 2,499 10, 313, 354
E Ll 19,156,646 + 10,313,354 29, 470, 000
HEREHLE 29,470,000 x 10.00% 2,947,000
RHERN 29,470,000 + 2,947,000 32, 417, 000




Rffizk-fEI/\vr—

HEREEMRERMREFRNRE

51
2 FTEEER 1KLY
£ b3 g - BRTE B = B Ol | i 5 =
EXEETICH))
A 1.00 62, 200. 00 62, 200
HEm (A)
A 1.00 55, 200. 00 55, 200
AR (B)
A 0.50 45, 300. 00 22, 650
=1 it YEZHERD 1,00 140, 050. 00 140, 050
5.2
2 ERUEEE 1X4Y
£ b g - BIKTiE B = B O{f %8 & 5 &
FEEER (GRED)
A 1.50 62, 200. 00 93, 300
HEm (A)
A 3.00 55, 200. 00 165, 600
AR (B)
A 4.50 45, 300. 00 203, 850
FEm (C)
A 2.50 35, 600. 00 89, 000
HKiTg
A 2.00 31, 600. 00 63, 200
& H YEZERER 1. 00K 614, 950. 00 614, 950




RER-EIL/vr— AE SRR EEN RERILER

5.3
B ERAEHORE B
£ b3 R - BAKTE B B = B O{f £ | W E 5 =
F AR (GRED
A 3.50 62, 200. 00 217, 700
HEm (A)
A 5.50 55, 200. 00 303, 600
A& (B)
A 6.50 45, 300. 00 294, 450
HEm (C)
A 5.50 35, 600. 00 195, 800
Hiffg
A 3.00 31, 600. 00 94, 800
& B YEZERER 1. 00K 1,106, 350. 00 1,106, 350
54
& EERXDHE 1XHY
2] f R - BARTE By H = B o | = s =
AR (A)
A 2.00 55, 200. 00 110, 400
HiEm (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 3.00 35, 600. 00 106, 800
& H YEZERER 1. 00K 353, 100. 00 353, 100




RER-EIL/vr— AE SRR EEN RERILER

&S5
B KEERESLUVEBRENDREHEDRE 1KLY
£ b3 R - BAKTE B B = B O{f ® & W E 5 =
FEHER GEED
A 1.00 62, 200. 00 62, 200
HEm (A)
A 2.00 55, 200. 00 110, 400
AR (B)
A 6.00 45, 300. 00 271, 800
HEm (C)
A 5.00 35, 600. 00 178, 000
Hiffg
A 4.00 31, 600. 00 126, 400
& B YEZERER 1. 00K 748, 800. 00 748, 800
FE:6
AF . BFIRE DI ES B AT 14y
2] f R - BARTE B H = B Of o %8 = s =
FEHER (G&EH
A 5.00 62, 200. 00 311,000
HER (A)
A 21.00 55, 200. 00 1,159, 200
HEm (B)
A 22.00 45, 300. 00 996, 600
HEm (C)
A 31.00 35, 600. 00 1,103, 600
Hiff&
A 8.00 31, 600. 00 252, 800
= it YEZHEH 1. 00K 3,823, 200. 00 3,823, 200




Rffizk-fEI/\vr—

HEREEMRERMREFRNRE

&=
2% BERAOETE 1KLY
£ b3 g - BRTE B = B O{f ® & i 5 =
FEHEAER (GRED
A 3.50 62, 200. 00 217, 700
FRED (A)
A 3.50 55, 200. 00 193, 200
HiEh (B)
A 7.00 45, 300. 00 317,100
AR (C)
A 6.00 35, 600. 00 213, 600
K&
A 7.00 31, 600. 00 221, 200
& B YEZERER 1. 00K 1,162, 800. 00 1,162, 800
58
E : MR OBERE 1XEY
£ f R - BR~HE BART = B Of & % i s =
FEHAER (GRED
A 1.50 62, 200. 00 93, 300
FRER (A)
A 3.00 55, 200. 00 165, 600
e (B)
A 7.00 45, 300. 00 317,100
HiEm (C)
A 6.50 35, 600. 00 231, 400
Hiff&
A 5.50 31, 600. 00 173, 800
= it YEZHEH 1. 00K 981, 200. 00 981, 200




Rffizk-fEI/\vr—

HEREEMRERMREFRNRE

5.9
2% . REER 1KLY
£ b3 R - BAKTE B = B O{f ® & i 5 =
HEm (B)
A 3.00 45, 300. 00 135, 900
HEm (C)
A 3.00 35, 600. 00 106, 800
b Z0y=]
A 3.00 31, 600. 00 94, 800
=1 B YEZHERD 1,00 337, 500. 00 337, 500
&5 :10
2% FEEOH#HE 14y
£ b R - KT iE By = B {f £ B & 5 &
FEEER (GRED)
A 5.50 62, 200. 00 342,100
HEm (A)
A 7.50 55, 200. 00 414, 000
A& (B)
A 2.50 45, 300. 00 113, 250
HiEm (C)
A 9.00 35, 600. 00 320, 400
HKiTg
A 3.00 31, 600. 00 94, 800
& H YEZERER 1. 00K 1, 284, 550. 00 1,284, 550
H5: 11
2 BRERSTOER 1KLY
% h R - KT B = B {f € B i fE &
FEEER (%5
A 2.50 62, 200. 00 155, 500
HEm (A)
A 3.00 55, 200. 00 165, 600
HEm (B)
A 3.00 45, 300. 00 135, 900
HiEm (C)
A 3.00 35, 600. 00 106, 800
= it 1EZREA - 1.00K 563, 800. 00 563, 800




Rffizk-fEI/\vr—

HEREEMRERMREFRNRE

B55:12
2 REHEROLEYFLED 1KLY
£ kg g - BRTE B4 = B Ol | i g &
F AR (GRED
A 2.00 62, 200. 00 124, 400
HEm (A)
A 3.00 55, 200. 00 165, 600
A& (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 2.50 35, 600. 00 89, 000
Hiffg
A 3.00 31, 600. 00 94, 800
= B 1EZBEA - 1. 00K 519, 100. 00 519, 100
H#S 13
B EBTEREEERK 1XEY
2] f R - BARTE B = B Of | i s =
FEHER (G&EH
A 1.00 62, 200. 00 62, 200
HER (A)
A 1.50 55, 200. 00 82, 800
HEm (B)
A 1.00 45, 300. 00 45, 300
HEm (C)
A 1.50 35, 600. 00 53, 400
=) it 1EZEREA : 1. 00K 243, 700. 00 243, 700
BEE 14
B 1%E - |E 1EH Y
£ b IR - BAKTiE B = B O{f | i) & =
EXE T TEH))
A 1.00 62, 200. 00 62, 200
AR (A)
A 1.00 55, 200. 00 55, 200
& it 1EZHEA - 1.00Mm] 117, 400. 00 117, 400
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HEREEMRERMREFRNRE

E5:15
2% EBARE B
% [ B - R BfL g B i & & i ® &
EHERARE
= 1.00 118, 791. 00 118, 791
a & YEERED - 1. 00K 118, 791. 00 118, 791
S .16
% g B - KT Bifu = B i * & i ® &
*HEHERE
= 1.00 220, 000. 00 220, 000
a it EERED - 1. 00K 220, 000. 00 220, 000




